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Losung Al
a) 2¢ b)
e) 2° f)
) 21=2 i)
m) 272 =% n)
Losung A2
a) «x* b)
e) «c° f)
i) xl=x j)
m) ¢ 2= ciz n)
Losung A3
a) 3-2¢ b)
e) 3-2°6 f)
i) 3-2'=6 j)
m) 3-:272 =% n)
Losung A4
a) 3-x* b)
e) 3-c° f)
i)  3-x'=3x j)
m) 3:c?= C% n)
Losung A5
a) 12:24=3.26 b)
e) 3-28 f)
i)y 3-28 j)
m) 3-2° n)
Losung A6
a) 12-x* b)
e) 12-c8 )
i)  12-x'=12x  j)
m) 12-¢3 n)
Losung A7
a) pa+b b)
e) 21+m+n f)
i) 207 i)
n1) Zl—nr—n n)
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Losung A8
a) xath
e) Cl+m+n
i) xa~ -b
n1) Cl1n—n
Losung A9

a) 3. 2a+b+2
e) 3- 21+m+c+2
|) 3. 2a—b+2
m) 3. 2a—b+2

L6ésung A10
a) xy - 2a+b
e) xy - 2l+m+c
i) xy-297b
m) «xy-297b

Losung Al1l
a) xy_ca+b
e) xy - cltm+c
i) xy-c*P
m) xy-c®P
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6 - 6C+d — 6C+d+1 C)

8. 3a+b+1 g)
6 - 6C—d — 6C—d+1 k)
8-371b 0)
ab - 6514 c)
pqr - 3%+P g)
ab - 6574 k)
pq-377° 0)
ab - x*t¢ C)
pqr - x**P g)
ab - x4 k)
pq-x~'7P 0)
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